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0.1 The representative household
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The sequential budget constraint is
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The representative household faces a technology in the informal sector given by
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We assume that the laws of motion for the capital stock in the formal and informal sectors are

respectively
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The representative firm that operates in the formal sector maximizes profits II; each period ¢,
defined as
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where 7% is the tax on the wage bill. The technology faced by the formal sector is given by
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0.2 Formal and informal market clearing

Market clearing in the goods market for both types of goods are:
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Total aggregate output as
Y =V 4+ pYy
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